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Topic:- English
1)
Question Stimulus :-

Fill in the blank with the correct option.

We see the ocean from the window of the cabin.
* should
* must
* could
®* ought to
Correct Answer :-could
2)
Question Stimulus :-

Fill in the blank with the correct option.

Every car seat belts.
® can have
* must have
* could have
* must not have
Correct Answer :-must have
3)
Question Stimulus :-

Fill in the blank with the correct option.

It John you saw this morning. He is away on holiday.

e couldn't have been



* could have been

* might have been

* must have been
Correct Answer :-couldn't have been
4)
Question Stimulus :-

Fill in the blank with the correct preposition.

Some poisonous gases can enter the body by absorption
e for
e from
e off
e through
Correct Answer :-through
5)
Question Stimulus :-

Fill in the blank with the correct preposition.

There are four bridges __the River Danube.
® across
* below
®* under
e along

Correct Answer :-across

6)
Question Stimulus :-

Fill in the blank with the correct preposition.

_______the skin.

The fair takes place every June with bands, theatre and much more



* besides
* beside
e along
®* across
Correct Answer :-besides
7)
Question Stimulus :-
Fill in the blank with the correct prepositions.
There's an old pair______shoes of yours lying__ the bottom of the wardrobe.
e of, at
e of, into
e of, about
o of, besides
Correct Answer :-of, at
8)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

* The information was

® contained in a

® article on biology.

* No error
Correct Answer :-contained in a
9)

Question Stimulus :-



DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

® Mr. Mukherjee became an union member

* after he won

* the general election.

* No error
Correct Answer :-Mr. Mukherjee became an union member
10)
Question Stimulus :-
DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e IfI had not told Sarah the address,

®* she wouldn’t have found

e your local residence.

®* No Error
Correct Answer :-No Error
11)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

®* Modern office buildings have false floors
¢ under which computer
e and phone wires can be lay.

® No Error

Correct Answer :-and phone wires can be lay.

12)



Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

¢ The autopsy revealed that his murderer
* had strike him on the head
e with an iron bar.
®* No Error
Correct Answer :-had strike him on the head
13)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’'.

* All charges against them were withdrew

e after the prosecution's

e case collapsed.

®* No Error
Correct Answer :-All charges against them were withdrew
14)

Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

e If you had revised
¢ all your answers,
°* you may go to bed.

® No Error.



Correct Answer :-If you had revised

15)
Question Stimulus :-

DIRECTIONS: In the following questions, some of the sentences have errors and some
have none. Find out which part of a sentence has an error: If there is no error, mark
your answer as ‘No error’.

® Students are not allowed to handle these chemicals,
* unless they are not under
e the supervision of a teacher.
®* No Error
Correct Answer :-unless they are not under
16)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

He said to me, “"you answered correctly.”

e He said to me that I answered correctly.

®* He said to me that I have answered correctly.

® He said to me that I had answered correctly.

* He said to me that I was answering correctly.
Correct Answer :-He said to me that I had answered correctly.
17)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

Maria said to Sam, “"Do you like mangoes?”
e Mari asked Sam if he liked mangoes.

®* Mari asked Sam if he like mangoes.



* Mari asked Sam if he has liked mangoes.

®* Mari asked Sam if he was liking mangoes.
Correct Answer :-Mari asked Sam if he liked mangoes.
18)

Question Stimulus :-

Out of the given options, choose the one which is the correct indirect speech of the
sentence given below.

John said to David “"How often do you go to the theater?”

¢ John asked David how often he goes to the theater.

® John asked David how often did he went to the theatre.

® John asked David how often he went to the theater.

* John asked David how often he was going to the theater.
Correct Answer :-John asked David how often he went to the theater.
19)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

The old man is ringing the bell.

® The bell has been rung by the old man.

®* The bell was being rung by the old man.

®* The bell is rung by the old man.

®* The bell is being rung by the old man.
Correct Answer :-The bell is being rung by the old man.
20)

Question Stimulus :-

Out of the given options, choose the one which is the correct active voice of the
sentence given below.



He was being taken to the cell by the police.

®* The police had been taking him to the cell.

¢ The police had taken him to the cell.

e The police took him to the cell.

®* The police were taking him to the cell.
Correct Answer :-The police were taking him to the cell.
21)

Question Stimulus :-

Out of the given options, choose the one which is the correct passive voice of the
sentence given below.

The students had not completed the French assignment.

* The French assignment have not been completed by the students.

e The French assignment was not being completed by the students.

®* The French assignment was not completed by the students.

* The French assignment had not been completed by the students.
Correct Answer :-The French assignment had not been completed by the students.
22)

Question Stimulus :-

Choose the grammatically correct sentence out of the given options.
® Surdas is Milton of India.
® Surdas is the Milton of India.
® Surdas is a Milton of India.
® Surdas is an Milton of India.
Correct Answer :-Surdas is the Milton of India.

23)

Question Stimulus :-



Fill in the blank with the correct option.

we know about the people who lived here suggests that they had a very

Mticated society.
® Little
* A little
® The little
* Some
Correct Answer :-The little

24)

Question Stimulus :-

Fill in the blank with the correct option.

We got

* a little
°* few
°* afew
* the little
Correct Answer :-a little

25)

Question Stimulus :-

Fill in the blank with the correct option.

She had trained herself to show
her.

little

a little

the little

o few

help from the training scheme.

or no emotion, no matter what happened to



Correct Answer :-little

26)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

When we are suddenly confronted with any terrible danger, the change of nature we
undergo is equally great. In some cases fear paralyses us. Like animals we stand still,
powerless to move a step in fright or to lift a hand in defence of our lives, and
sometimes we are seized with panic, and again, act more like the inferior animals than
rational beings. On the other hand, frequently in cases of sudden extreme peril, which
cannot be escaped by flight, and must be instantly faced, even the most timid men at
once as if by miracle, become possessed of the necessary courage, sharp quick
apprehension, and swift decision. This is a miracle very common in nature. Man and the
inferior animals alike, when confronted with almost certain death ‘gather resolution
from despair’ but there can really be no trace of so debilitating a feeling in the person
fighting, or prepared to fight for dear life. At such time the mind is clearer than it has
ever been; the nerves are steel, there is nothing felt but a wonderful strength and
daring. Looking back at certain perilous moments in my own life, I remember them
with a kind of joy, not that there was any joyful excitement then; but because they
brought me a new experience - a new nature, as it were and lifted me for a time above
himself.

What is the meaning of the word ‘peril’?
e Safety
e Danger
® Condition
* Circumstances

Correct Answer :-Danger

27)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

When we are suddenly confronted with any terrible danger, the change of nature we
undergo is equally great. In some cases fear paralyses us. Like animals we stand still,
powerless to move a step in fright or to lift a hand in defence of our lives, and
sometimes we are seized with panic, and again, act more like the inferior animals than
rational beings. On the other hand, frequently in cases of sudden extreme peril, which
cannot be escaped by flight, and must be instantly faced, even the most timid men at



once as if by miracle, become possessed of the necessary courage, sharp quick
apprehension, and swift decision. This is a miracle very common in nature. Man and the
inferior animals alike, when confronted with almost certain death ‘gather resolution
from despair’ but there can really be no trace of so debilitating a feeling in the person
fighting, or prepared to fight for dear life. At such time the mind is clearer than it has
ever been; the nerves are steel, there is nothing felt but a wonderful strength and
daring. Looking back at certain perilous moments in my own life, I remember them
with a kind of joy, not that there was any joyful excitement then; but because they
brought me a new experience - a new nature, as it were and lifted me for a time above
himself.

What would be the synonym of the word ‘fright’?
® Calmness
®* Terror
e Composure
®* Abscond

Correct Answer :-Terror

28)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

When we are suddenly confronted with any terrible danger, the change of nature we
undergo is equally great. In some cases fear paralyses us. Like animals we stand still,
powerless to move a step in fright or to lift a hand in defence of our lives, and
sometimes we are seized with panic, and again, act more like the inferior animals than
rational beings. On the other hand, frequently in cases of sudden extreme peril, which
cannot be escaped by flight, and must be instantly faced, even the most timid men at
once as if by miracle, become possessed of the necessary courage, sharp quick
apprehension, and swift decision. This is a miracle very common in nature. Man and the
inferior animals alike, when confronted with almost certain death ‘gather resolution
from despair’ but there can really be no trace of so debilitating a feeling in the person
fighting, or prepared to fight for dear life. At such time the mind is clearer than it has
ever been; the nerves are steel, there is nothing felt but a wonderful strength and
daring. Looking back at certain perilous moments in my own life, I remember them
with a kind of joy, not that there was any joyful excitement then; but because they
brought me a new experience - a new nature, as it were and lifted me for a time above
himself.

What is does the author wish to convey by the expression “‘gather resolution from
despair’?



e Starts yelling out of panic.
e Become extremely frightened and start trembling.
e Become bold in an extremely fearful or life threatening condition.

e None of the above.

Correct Answer :-Become bold in an extremely fearful or life threatening condition.

29)
Question Stimulus :-

DIRECTIONS: Read the following passage carefully and complete the following
sentences.

When we are suddenly confronted with any terrible danger, the change of nature we
undergo is equally great. In some cases fear paralyses us. Like animals we stand still,
powerless to move a step in fright or to lift a hand in defence of our lives, and
sometimes we are seized with panic, and again, act more like the inferior animals than
rational beings. On the other hand, frequently in cases of sudden extreme peril, which
cannot be escaped by flight, and must be instantly faced, even the most timid men at
once as if by miracle, become possessed of the necessary courage, sharp quick
apprehension, and swift decision. This is a miracle very common in nature. Man and the
inferior animals alike, when confronted with almost certain death ‘gather resolution
from despair’ but there can really be no trace of so debilitating a feeling in the person
fighting, or prepared to fight for dear life. At such time the mind is clearer than it has
ever been; the nerves are steel, there is nothing felt but a wonderful strength and
daring. Looking back at certain perilous moments in my own life, I remember them
with a kind of joy, not that there was any joyful excitement then; but because they
brought me a new experience - a new nature, as it were and lifted me for a time above
himself.

What is the similarity between animals and human beings?
¢ In case of sudden fear both are unable to respond or react.
e Both fight fearlessly with any kind of danger and enemy.
e Both run away when confronted with sudden danger.
®* None of the above.

Correct Answer :-In case of sudden fear both are unable to respond or react.

30)

Question Stimulus :-



DIRECTIONS: Read the following passage carefully and complete the following
sentences.

When we are suddenly confronted with any terrible danger, the change of nature we
undergo is equally great. In some cases fear paralyses us. Like animals we stand still,
powerless to move a step in fright or to lift a hand in defence of our lives, and
sometimes we are seized with panic, and again, act more like the inferior animals than
rational beings. On the other hand, frequently in cases of sudden extreme peril, which
cannot be escaped by flight, and must be instantly faced, even the most timid men at
once as if by miracle, become possessed of the necessary courage, sharp quick
apprehension, and swift decision. This is a miracle very common in nature. Man and the
inferior animals alike, when confronted with almost certain death ‘gather resolution
from despair’ but there can really be no trace of so debilitating a feeling in the person
fighting, or prepared to fight for dear life. At such time the mind is clearer than it has
ever been; the nerves are steel, there is nothing felt but a wonderful strength and
daring. Looking back at certain perilous moments in my own life, I remember them
with a kind of joy, not that there was any joyful excitement then; but because they
brought me a new experience - a new nature, as it were and lifted me for a time above
himself.

Which word in the passage means ‘a very lucky event that is surprising and
unexpected’?

e Apprehension
* Confronted
®* Miracle
* Timid
Correct Answer :-Miracle

Topic:- Hindi
1)

Question Stimulus :-
FafafEa T @ aFYde Tew] I A i T sgfawadt uxAl § Odt fawer &1 aae w)

*H1e St 3 faaR’- a8 GeTaRT YA | fha-n a-die® 8, W 39 AU 9 B oTa1 id $ied 81 59
TR P PR FR Sig § IaRA a1 ST, Jdueell AYTHWHE 39 HgTgEl @t Juft F ard § Rt st sk
PR | BIg SR 7 AT 3 T Fgd Y, IH ISP 81 gH Ad A1 ST, AYTHWIA A sftaT B e auen & w9 ¥ o
IR TG B THD! ST H TUTHR Ped 1 FordT| TR S 99 o 9wyl 3y U1 g 3311 I foreht Iofos
Tl 3ryaT S IO & 9 UR gfran # gorig el g8, 9fp S 59 W IR Sarsdl S g gradr &
I IR YT fHaT| SAFT e TP RAeE & ©U & ARY gl AT, AfpT Ut AfSwar ol ahaar & ga@ IR 54
T UM RIS 3R a9® & ¥U ¥ Bnfa fsfa 1 71y & 3 va o<t gaa1 & ©U A yga@ MW &9 3.
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|

-



ST, AYTHWE FT Sfiaq {69 & & YRY gaim °1?
o it
* dEDH
o fRrere
o gal
Correct Answer :-Rig®

2)
Question Stimulus :-
Frafafad T & wryde yeer 39 i G T ggfawed uxAl A 98 fawen &1 9u_ 9
"HTeT St 3 faaR’- a8 GeTarT A1 # fban a=wied 8, g 39 Y Sa- &) STa-1 3cid $i3 81 39
TR B! PR PR offad # SR ardt ST, JAUeel AUTHWH I WeTgEul $t 0 § 3ma & st s ok
P | BIg 3R T AT 3 S Fad ¥, IA PP ol gF Ad A1 ST, AYTHWI A sfta B i3 auen & wu § o
IR T BT THD! AN § qUISR P& 941 fordT| R a1 a0e | wryul Iy Ui gt 3811 9 it Iemfas
@ YT SRS YU & 99 R gfar A goeig 8 g2, 9fc S 39 9WH 3R Sursdl @) S aigdT &
T4 UR YT fhar| 3T Sfta U Ried & U A ARY g3 U1, AP vt AfZHpar iR avaar & 9 wR I
TP WeH R 3R a9 & U & Tfa ffa 1 Iy & 3 v ot gga1 $ ©U § ygaE MW 59 3.

T TR IRAH gU <t 3% & TR T U ATRI® da- frean 41l afda 3 a1 @18 goR w ud

RTYTH T Gl
mmaé}a:r Y| TP a9 DI AW AR I Ht IAfA AR fawr sl & @ gidt T ST JUTFwE I & ula
Tufta A1

ST, AYTHFW 39 fFd T & FRT giar & o gue
o IRl 9T S HRUT
* Al & SR
* AW P PRI

o ZRiF® 81 & HRUI

Correct Answer :-gr’gdl & SR

3)

Question Stimulus :-

et T @ aFYde Tew) I A i T sgfawadt uxAl § wdt fawer &1 9ae w

*H1eT S 3o faaR’- a8 GaTaRT YA | fHa-n a-die® 8, Wy 39 AU SHa- B oTa1 d $ied 81 59
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HETR
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3R WU P FHD! 3T A TUTHR Hed a1 T déar S a0 A Jupuf fay yafRa &) 3a11 9 et wemfaw



T 37YaT SN YTYON & 9 TR g § goi-d 16t g4, 9fch 3614 59 WM 3R SHdA1gdil &I U= argdl &
Th 9 H ARY g3 oI, AP - AfZwar iz divgar & ga R I
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-

gufta 1

ST, AUTPWF §F AP Ug W & 99 37 da- &1 Ay A forg &1 & @ it A2
o I I A IR fawr wraf A
o IAPUfd Haq & IER@E A
o d% & @rd | 5T gt R
e URER & Sfia" gru= d
Correct Answer :-¢¥1 31 34fd iR faor™ st §
4)
Question Stimulus :-
frafafEa T @1 wFgde Teer S - f3d T agfaeedt Al § 98! fawey &1 999 33|

11 sftaq 3= faarR’- g8 erart A1 A frar g=iie® 8, UNq 39 MU Siigd &1 el 3icdid $fdq 81 39
TR ] AIHR PR oifad # SaRA a1dt ST, AU AUTHWH I AeTgel it i & 3ma & st s ok
PR | BIg SR 7 AT 3 S Fad Y, IA PP &1 gF Ad A1 ST, AYTHWIA A sfta B e auen & wq § o
3R T B TSB! SAFT H TUTHR BT 91 AT TR T T/ ¥ Frgut {3y w1l & Io11 3 foeft wemifoe
A YT IR YU & a0 R gfar A goiig A8 g4, 9fcd SR 39 9w iR Sursdl &) S aigdT &
T4 R T fbar| 39T Sfta U Rierd & Fu A ARY g3 o1, AfdT vt AifFHar i avaar & 9 R I
T& WEH arie 3R a® & w # B oifefa #1191 § 3 gob iered! a1 & w4 # UgdM T S SN,

TYTHOT Gl
mﬁmaaaq q| TP q9 Dt AW AR I Ft IAfA A fawrw il & T et T st TeUrpwE I F ula
Tufta A1

wHfta’ g § T4 8-
e d
o fiq
. &
* %
Correct Answer :-3d

5)



Question Stimulus :-

Frafafad T o wryde yeer 39 i g T sgfawed uxAl A 9 fawen &1 e 9

ap

"ATe1 Sfta I faeR’- 78 YeTarT YA # fhawn Awies §, uig 39 gy S &I eral 3reid Hfe7 81 g9
TR BT AHR PR Sidd § JARA ard ST, JAuee! AYTHWH 37 Werg=ui &1 Juft § arrd ¢ et st
I A PIg 33 T U1l I ) Fed A, I FIP & SH ad Y1 . wwm%vﬂaqa%ao‘%—-rm%mﬁ
sﬁ?maﬁwﬁmﬁwwwmlmmﬁwﬁmﬁ%mﬁW| et
A YT SRS YU & 9a R giar § goiig 18t g4, 9fcd Sgi 39 WM 3R Sarsdl &1 Ui argdTr &
T W 9T fbuT1 3T Sfte T Rigd & w9 § Ry g ul, afdT Ut Sfgwar o divgar & aa w 3=
Wﬂi’ﬁmsﬁ?m%mﬁwﬁeﬁaﬁlmutﬁawahaﬁm%wﬁuﬁﬁﬂqlGrq':c',T
TI%‘%‘H TE W 3 §¢ a1 I o9 TR U AR a1 firerdT url AT 3 1 o g9R w0
Wmmm%aq q| IF a1 Bt A AR IR FT IAfT AR AP Frf A @ it A1 ST, qUTPwH U F ufd
|

%ﬁ’%

39 TR & fe Suge wiw 2-

* a1 SiieH, 9= fa=R

* STEUR AUTPWE

* HEH IRiF®

o Sl AUTHWH-TS faRTe =fdaa
Correct Answer :-8I. AUTHWH-TS favTe aafdaa
6)

Question Stimulus :-

fFafafaa s @ aFYde dgak SHd A G T agfawad uxAl § agt fawen 1 9g7 w3

e id faRe & qeit
et el St @

fa gew1 o7 @ Y
Sudl § T Hed! wrdl 8
¢ R U Ta1d Hidl,
"3 W afe gt fuma,
3UH YdsR & Ju-l &7,
# off w1 @1 e gATEan”



M- 98 & i,
UTed UP Tl § ¢ X
i, enfta, & Yor 22

& i T <& 2-

e IH &

e M &

e fiE®

o HfF &
Correct Answer :-fRg &
7)

Question Stimulus :-

fFafifET ST & AFyde dgat S A 3 T agfamadt u=xAl |§ 9l fawer 1 9949 &4

MR M favg & aeh
Tt gt ST 3

i g R A

SUe § O Pod! Tl 3l
¢ R TP J[ard il
39+ JAgR & qUAl BT,
# oft 51 @) st gAEan”
M- 9 @ R,
Uled Y& WS § d¢ UR
i, onfia, S Hav @2

T8 3 fod gt Hddl -
o fARaR wared s



* A ¥ Fradid R

* T | Fradld gRI

o T | dradld gRI
Correct Answer :-fRaR yarfed giex
8)

Question Stimulus :-
fFafifaa ST & AFyde dgat S A 3 T agfawadt u=xAl |§ 9l fawer o1 9949 +¢)

MR Ma favg & aeh
FTaelt gt STt 3

i gemr R A A

SUe § O Pod! Tl 8l
¢ R TP e Al
39+ JAgR & qUl BT,
# oft 51 )t gAmEan”
M- e @ R,
Uled Y& WS § d¢ UR
i, onfia, S Fav @2

AT BT §eU ATdd 8, Flfoh-
* qg -Idl BI 7RE Yared &l & WPl
e IRAJW P S RIwpicfad 7
o IR A I dieA o Al 781 §
o $3R Y IHST G R TR
Correct Answer :-$3® A 39 diaq @1 faad =61 &

9)



Question Stimulus :-

Frafafad s o wryde ygar 39 i 3 T sgfawad u=al d I8 fave &1 99 &1

e Mid farve & qeit
Tt gt ot 3

& g1 BRI &Y
SUdl ¥ T Hed! wrdl B
¢ W U a9 Hiwdl,
"3 R afe gt e,
30 TagR & HUl &7,
# off w1 ®1 W gATan”
M-SR T 6 e,
Ued Y TSI 8 d¢
Tfia, orfia, o9 gax 82

TaER ¥ U &1 Mar S frd AT arear 82
TTaTg-Tdt B

* IAE-HIR B
* TAME- SR B
* AN Hicl B
Correct Answer :-TdAd-3dR &I

10)

Question Stimulus :-

Frafafea s o wryde ygar 39 i 3 T sgfawad uxal § I8 fave &1 99 &1

MR i favg & de-t
Frat Fgedt R 3
fed o1 HR @1 B



Sudl & $O Ped! WTdl gl
¢ R U Ta1d Hiedl,
"3 W afe gt fuma,
30 YasR & qU-l BT,
# off w1 o1 e gATEan”
M- 98 W e,
UTed Y TSI 8 a¢ W
e, srfta, #19 G 82

P Ht g 3-
o fia gar 22
o 3rfid Yer 32
o a-erfia I Yor 22
o ia-srfla S G 76 32
Correct Answer :-iftq-3rfid 1 Yer 7?2

11)

Question Stimulus :-
“RERA” g H PIH-AT U g2
° o
° W
e q
o faan
Correct Answer :-s«¥

12)

Question Stimulus :-
“IIIHT” Ueg W HIF-TT IUT 82

® 3d



° g
* 9
® 3
Correct Answer :-3i4

13)
Question Stimulus :-

i eI # 9 g 7 T Dl IET-3(eT DIforg?
o 39 + 3am
o {1+ T
o fSfa+ ar
o &+ fomr
Correct Answer :-f&s1 + 341
14)
Question Stimulus :-
THAAT Vg § PH-A1 T 32
o 3
° 3
o I
T
Correct Answer :-d1

15)

Question Stimulus :-



* IR TIig T
o 3IQ@ B o
Correct Answer -9 3g41

16)

Question Stimulus :-
"S- e T YT BT Hal o §-
* FUER AT
o 3T BT FUR BT
o yyid g
® §gd UYP I
Correct Answer :-3gd Y& Sl

17)

Question Stimulus :-
TH-gHR Hhe A A F R¥g T8 gerR 1 909 Fifre-
o 3% g
o 3T R et & 3
* 3F N IS
o 3TY H T g
Correct Answer :-394T1 RR siaeft # ¢

18)

Question Stimulus :-

YP WA 8 U 59 forar wimar @2
o Hulgw @I
* YHING Bl

* IEH Bl



* UH DI
Correct Answer :-U&I=& &)
19)

Question Stimulus :-
fad m areiv & fog T g &1y Fifore-
*STgT Ugdl 7 o &b

° JIMMHA
Correct Answer :-3/&

20)
Question Stimulus :-
fed T a1 & R @ < @1y Fifre-
‘fraet IuaT 9 8§
* oguH
* g
° o™
* IUR
Correct Answer :-3u#

21)

Question Stimulus :-

g ¥ ¥ 3z ad= &1 99 Fife-



° 3RY
Correct Answer :-3ifgen

22)

Question Stimulus :-
o T SR acdil BT T4 Bifoe-

e 3A
Correct Answer :-3/@Q9

23)

Question Stimulus :-

T @ Bi-4 drelt gf & @t 761 82

Correct Answer :-®Rdt

24)

Question Stimulus :-
fafafaa # g9-wfe B¢ &1 F1H-91 IeE 82

* g



Correct Answer :-dUrg

25)

Question Stimulus :-
Rrewa YR W 3R 1 QAudla g F-41 82

o I
. g
* JURST
* Td
Correct Answer :-U3T

26)

Question Stimulus :-

frafifea # & oF- fRift Igarr fRift @ vafa wr @ 2-
* Wt
* HogTeH
* et
o qitel
Correct Answer :-TeRTdl

27)

Question Stimulus :-
o dfem &1 dauur Fifsre-
T forg Ifa & odr 8, S8 391 & wa fradar 31 R o Tfa A | wa adr 31 S F 1Y I 35T

trhvnwﬁwm%mﬁw il 9 foRT 3@, @t SEUT 39 UR 3AGRY WHTd Sisi| o sl &y gw
IEd ©, Wumﬁmm&g—dmﬁ—r{%l" g

o SRIT BN AT HIAY
e Ad U U St @t |k

P

* I
o SNt wifa SfdT aWE wa G



Correct Answer ;-3 Infa 3few a9iE wa 9

28)
Question Stimulus :-
u fafea 6 arei=i # @ wuw g sifaw FAifda 8, Av #1 S wu A sgafeya Fifvm
(1) f&=dt et & forg o wHg TP
(T) RPN TG, Rigmea, =amareat o wat &= 7 it 3
() 3R @ g5 79 A R 3 FH3A 71 3R g
() 3 ar] F= SR =t wrwn 3R wifged o1 oif¥re & siftres
(d) IR Gg T TR e H Weg § o K& B
(6) TS 3R Y T $T &

* ¥3qW

* gFIT

e gI|a

® qV¥dYg

Correct Answer :-=3dqd

29)
Question Stimulus :-
o fafaa 6 araai= & F wyw g sifaw FAfda €, v o e w9 A sgafya Fifvm)
(1) Jgufa
(@) Tt =marery & ufa
() HfP Iq& AR FA
() Sierdt =18t
(@) 39 HfUBRY F YT & forg
(6) #fuRug grT AU g1 B
* IIAX

e d4qdvNyg

e dgdv



e dgAIX
Correct Answer -39 dv

30)

Question Stimulus :-
yTT $Y Sfireafd & faa = g2

o d
* TR
o q
. Uiw
Correct Answer :-a

31)

Question Stimulus :-
aftra e aftar &t ge@ W ife Qe ymar 82

* 3TUY
e wfas
o Ird
* UdMER
Correct Answer :-&fds

32)

Question Stimulus :-

fa & @ 919 ‘sreRr o1 yaigard T8 82
* Tq
* A
* IR

o Y



Correct Answer :-99

33)

Question Stimulus :-
ared’ g d @ feaer yafaarh 82

o IJYUPR

Correct Answer :-3G'\R

34)
Question Stimulus :-
FHAT o3 BT TG W &-

® 3T

® 3FHAT

° FHHAI

o U A B T
Correct Answer :-3AHA1
35)
Question Stimulus :-
MYH’ W 8-

. Y

o fagsht

o doH

¢ d&d
Correct Answer :-ac&H

36)



Question Stimulus :-
‘HAPIA’ BT faDg M-

* FHaAl + ATPHiA

* HF + P

* &Y + Pfd

* T IS Tl
Correct Answer :-%dl + 3Pl

37)

Question Stimulus :-
‘guTcara’ § S-41 iy 3-

* IUT WX Ay

o & wR WM

o U W HiY

o T A I T
Correct Answer :-T01 WX §fY

38)

Question Stimulus :-
e’ o1 Wi e &

* JY + Hfa

e g+ Hfa

* I + #fd

* Iq + Afd
Correct Answer :-89 + #fd

39)

Question Stimulus :-



TS Teg FABR Nt T 3t gelf w81
AKEAPR & A UG §- IR, THD 3R ..o |

* TUP
* Ay
o IMET
o yifqu™
Correct Answer ;-39

40)
Question Stimulus :-
A ifea & sripR ugafg
‘Haed HAr-d G- &, Y o bra ¢ /1
s FUP
* Y
° Ut
o yifaur
Correct Answer : -3
41)

Question Stimulus :-
o § ¥ 35 a1 oifte-
o Zq=l Id Y 3T Pl A?
* T I TS MY FEl UI?
® 3TY g1 I T FHel A
* 3TY Hgl ¥ ga- I L2
Correct Answer :-gd! Id 7T 3T gl A?

42)

Question Stimulus :-



fru # ¥ g5 ar sifee-

o W HI [P all

o oI 77 fRraEm 31

* 10T ¥ Tgd 3R B

o IJue g+t
Correct Answer :-7%T ¥ 9gd SiERT 31
43)

Question Stimulus :-

“# Ug IgT §” aI qdHH PId P [T NG BT IS0 82
e JUMI IadH
o qTpIerd aeAT
o uuf e
o HRTH qAHT
Correct Answer :-ar@Tiis Jdd=

a4)

Question Stimulus :-
38 A PH-91 pd arat f41 Al ¥ @&t ave s @2

* 3T
o firzrar
* 3N
o gl
Correct Answer :-3®&R

45)

Question Stimulus :-
1l T ‘Sl F e P A v o B-
o HuIE!



Correct Answer :-gH3dl

46)

Question Stimulus :-
“Ifrpa’ & fire fae 2reg ghm-

o Tafrgpa

o 3FfRIpa

o Reafrpa

o T AP A
Correct Answer :-3A1Usd

47)

Question Stimulus :-
I@iferd g & AT g 1 994 H e T Y-
IR A H ST AT AR Beveeerrrrrrrrrennnnns T8

o wrthA
* o
® XAl
® IdAdl
Correct Answer :-WRdadr

48)

Question Stimulus :-
o a1 ® e-a1 fvm e ger 32
Mg FHA 3R G TH J1Y el o1 31”7

* JfR™



o e frg
o uf R
o faRur fag
Correct Answer :-3{eufaRT

49)

Question Stimulus :-

AR T gRT I TR WS Fry g Avft FT BT ® 2
o HEHTH
* GSHIH
o IY BT
o 9YFH
Correct Answer :-9q &1

50)

Question Stimulus :-

™ s & onfe yade 34 §2
o WRa TR
* Hrged
o fazaTy
* UTE
Correct Answer :-Wd g+
51)

Question Stimulus :-

YT I BT TIRAHTE 8-
° ﬁﬁg
o fourg



* Wiy
* et
Correct Answer :-S{[&l

52)

Question Stimulus :-

IS Y YS! T A 7 Rzarguras!  dET A g8 S R Frieht At fbw AepeR it &2
* SUIHR YHIG
* YT AR fiy
* URdg gRerE
® dIelPpwl Hg
Correct Answer :-4Rdg sRms

53)

Question Stimulus :-

fra & & #gred 9uf gr1 WA Ferh HA-H B2
o FHfq B T
o ITHT §U
* TS WIS Aeq
o JE@uY SHeH
Correct Answer :-3T&T iU

54)

Question Stimulus :-

TATRIST ATHS URST BT UHRH DIH-UI TTIT Bl 82
o P RSP
° HIHH

° T



o fafy
Correct Answer :-A1¢44

55)

Question Stimulus :-

g TRl & T SR BT T4 P -
“HR TR $ UgNeR, 95 @M =3 1|
-9 dad o 11”

. drtar

e drel

o foars

o T A T T
Correct Answer :-frars

56)

Question Stimulus :-

g TRl & T SWR BT 9uA Bifore-
“BIel-A1 HTAT W), THAT Igdl SU-3UI|1”

* Il

* THI

* TIHT

* Bl
Correct Answer :-3Tdl
57)
Question Stimulus :-
T TR P IR B-

® 3,% 3, B

b 3ITI glEIQIQ.I aﬁlaﬁ.



* 3,% 3T N
* 3, 3,55
Correct Answer :-3(, 3,3, 5

58)

Question Stimulus :-
WEY’ BT Y5 - [aRAT0Tr gRT-
* +I+FH+ T
* + T+ AH+TJ+F+ T+ 3
* + A +I+FH+T
* +T+A+H+ T
Correct Answer ;- + @+ A +I+SF + T + 3

59)

Question Stimulus :-

-3 VE-H & el 3d-Hg BT g9 Hifore-

o 9 A HIS o
Correct Answer :-fgxar-@ur

60)
Question Stimulus :-
e & & P 1@ gw wuid T 8, 90 S
o IRHAF-3fEH
o 3Ral-3R4
o 3afy-sratht



* Hcd-3 e
Correct Answer :-H&g-3\cd
61)

Question Stimulus :-
g A Q@ ~duiar g & JHAT 2 &1 T Fifore-

. R
* 3N
o 3Tl
o fqd=m
Correct Answer :-fada=n

62)

Question Stimulus :-

frafafaa ae & @ Y@ifea v & gt s o1 997 Fifoe-
“Rifgrl U= SR P geE Todl o1 & §1”

* JHRR

Correct Answer :-3dfisq

63)
Question Stimulus :-
‘HHATTT BT faUg ghm -
* HUA & A
* HHA & AN T4
o U9 § A foraet
* FHHA ¢ e 794



Correct Answer :-&9d & J9H 994

64)

Question Stimulus :-

f a1 amER’ 5w 3 &1 faue @2

Correct Answer :-fxaoft

65)
Question Stimulus :-
Hfa9y 1 faue -
o pfagl A Ay
* Hfadl & fog 98
o Hfagi ¥ 9y
o 9 A BIS T
Correct Answer :-%f3di # 48

66)

Question Stimulus :-
g arer § F IR9 91 BT 994 Bifere-

o gl &1 ey 3 Ffegef 21
o 3meM g % g goweR frdmm
* THTAW & [ YT &I
* 9§ Sl ASHI § BleT 7l
Correct Answer :-ggl &1 yay 3ifa gfegof 21

67)



Question Stimulus :-

e g3 &1 el & g W 9T 8-
* Wd
o fHy
° HIH
o T A B TR
Correct Answer :-313d

68)

Question Stimulus :-
WTEa:’ BT sl yafg g-

® As aforesaid

® As a matter of course

® As a matter of fact

® As a general rule
Correct Answer :-As a matter of course
69)

Question Stimulus :-

‘Numismatist’ $T 3T g-
o THTS R
o IS WA
. w51 T
o TH I P T
Correct Answer :-4aT XAl

70)

Question Stimulus :-



"3 HEAT UR I dipifa o1 3 5-
* A A gig et @
* ¥ HA ¥ P06 fear @
o Fft gom & g firear @
o U fhY BT Ba U
Correct Answer :-3/0 f&T &1 e Ui

Topic:- General Knowledge
1)

Question Stimulus :-
Where is the famous Rajarani Temple located? / URIE ISIRHT HieR ﬁf@-ﬁ %?
¢ Bhubaneswar / ‘{ﬂef%ﬂ
® Bangalore / AR
e Mumbai / 'ﬂirs:
® Puri/ Q3
Correct Answer :-Bhubaneswar / Hﬁﬁ%ﬂ
2)
Question Stimulus :-

Match the following and select the correct answer from the codes given below:

/ 9 3 fyand ok 9 fRE e Fiel & SR uR I SR &1 999 Y-

List-I List-II
1. Karnataka a. Sabarimala Temple
2. Tamil Nadu b. Siddhi Vinayak temple
3. Maharashtra c. Madurai Meenakshi Temple
4. Kerala d. Dharmasthala
gfa-1 gfa-11
1, TlcP a. geTar die

2. dftrerrg b. fifSfamma® wfer



3. WERTY c. AgRs el widR
4. HA d. ey

* 1-d, 2-c, 3-b, 4-a

® 1-d, 2-c,3-a,4-b

® 1-c,2-d, 3-b, 4-a

® 1-d, 2-b, 3-c, 4-a
Correct Answer :-1-d, 2-c, 3-b, 4-a
3)

Question Stimulus :-

The main source of water is . / oI DT = CICE
* Pond / RIS
® Rivers / qﬁ‘ﬁ
® QOcean /dITR

® Rain / duf

Correct Answer :-Rain / 991

4)
Question Stimulus :-

Which fruit gives Vitamin C? / $IF 91 wd faerfim It Ear %?
e Papaya / qqtar
® Sapota / iﬂ?
® Orange / =T
® Apple/ qq
Correct Answer :-Orange / IdRT

5)

Question Stimulus :-



CD -ROM is a . / CD -ROM T&H gl
® Magnetic Memory / ANfew AR
® Register Memory / IoEeT AA
® Chief Director - ROM / HITF SRTEY - ROM
® Internal Memory / Rﬂﬁ AR

Correct Answer :-Magnetic Memory / Hife®d AR

6)
Question Stimulus :-

Carotenes are found in ___ ./ W‘L _'ef qTe ST gl
* Milk/gHY
® Meat /|
® Carrots / TITSIR
® Lemon /ﬁq
Correct Answer :-Carrots / TToIR
7)
Question Stimulus :-

Indira Gandhi Centre for Atomic Research, established in 1971, is located at

T, gfaRT el AT SrgEem Fn
Kalpakkam / ®cUTdhH

Sriharikota / m
* Thiruvananthapuram / fo=adayRy

Bengaluru / ST

Correct Answer :-Kalpakkam / ®dUTdDhH

8)

Question Stimulus :-

# fRe 2

./ 1971 ®


https://en.wikipedia.org/wiki/Thiruvananthapuram
https://en.wikipedia.org/wiki/Bengaluru

A broad channel where the waters of a river and a sea mingle is called / Th YD TRt \_SIB'TQT:F T-Iﬂ
PT UM 8 3R TP Y% &1 30 § e HEATdl §

® A Delta / T% Sl

® An estuary / T% SORAGHH

® A harbor / U% €8

® A strait / T TASHEHH
Correct Answer :-An estuary / T SWOARAGHE
9)

Question Stimulus :-

What is the famous dance of Gujarat? / TRTd T URIS &I HIT 4
® Bharatanatyam / HXd HATcIH
e Dandia / Sif&AT
® Solo/ et
® Kathak / YD

Correct Answer :-Dandia / Sif&aT

10)
Question Stimulus :-

Which is shortest National Highway in India? / HRd T gad Siel ?T@'q AT P T 32
e Kundannoor - Willingdon / $SIX - faeiiTe
® Agra- Mumbai / 3T - aaé
® Kolkata - Hajira / BBl - E'Gﬁ?T
® Chennai - Thane / %aré L

Correct Answer :-Kundannoor - Willingdon / $8IR - fadfiTs

11)
Question Stimulus :-

Sri Padmanabhaswamy Temple is located at / ft geATYRaTHt wiew ¥ @ %I




e Karnataka / $lc®H

e Kerala / CEL|

® Maharashtra / HEIRTY

® None of these / Eﬁ I ﬂ'ﬂ's: T-I?'T

Correct Answer :-Kerala / 33d

12)
Question Stimulus :-

Chinnar Wildlife Sanctuary (CWS) is located in which state of India? / AR a=eig SrvaRTg (CWS) HIRd &

o Ta & fRya 32
® Tamil Nadu / A0 TG
* Karnataka / $lc®
 Andhra Pradesh / 3fi$f U=T
* Kerala/ $vd

Correct Answer :-Kerala / 3

13)
Question Stimulus :-

Which site is not located in Madhya Pradesh? / @1 OT ®Id He7 W= H fRya =8t 82
® Gwalior Fort / arferar &1 forar
e Bandhavgarh National Park / STYdTg ?T@'q el
® Omkareshwar Temple / APRY wfeR
® Somnath Temple / JTY 'Flﬁ?'

Correct Answer :-Somnath Temple / IHATY AR

14)
Question Stimulus :-

The newest country in the world is / ﬁ%’ H Fdaq a'QT %
® EKritrea / Sﬁﬁtﬂ



® East Timor / qﬁfﬁth?
® South Sudan / & g
® Palau / UdI$

Correct Answer :-South Sudan / &f&01 8™

15)

Question Stimulus :-

The largest grape producing country in the world is

IR IV E !
® China /94
® Spain / T
® Singapore / ﬁrrrrg?
® None of these /Eﬁ g ﬁé qﬁ

Correct Answer :-China / 919

16)

Question Stimulus :-

. / fay | SRR &1 Iured H qra

The sport with which Ankush Dahiya is associated with is ?/ G@QTEI%TIT o @ & a1y Wﬁﬁ%@%}

q® e ?
® Archery / di¥groh
* Boxing / GFbATel
* Wrestling / Bl
* Badminton / 98fieA

Correct Answer :-Boxing / G aTw!

17)

Question Stimulus :-

The word 'Grand Slam' is connected to which sport? / 'IUS W' Vg frd W A FST §3MT 82

® Hockey / 3\1’3%



® Tennis / ef

e Badminton / 9Sf¥eT

® Table Tennis / CqA-f-I<
Correct Answer :-Tennis / ¢~ ¥
18)

Question Stimulus :-

Who won the Rajiv Gandhi Khel Ratna Award 2015? / I5itd i @d ¥d PR 2015 fFa siar
T2

® Yogeshwar Dutt / YRR o

® Saina Nehwal / HIg-T ﬁ?ﬁ'l?[

e Sania Mirza / GTf=/T ﬁﬁl’f

® Gagan Narang / TRH AR
Correct Answer :-Sania Mirza / 9Tf=a1 firatf
19)

Question Stimulus :-

Who is the current Union Minister of Law and Justice in India? / 8T ¥ URd & DI 3R = & Hlg v
B 82

® D.V. Sadananda Gowda / SI. 4. Hald<al Tﬁﬂ@T
® Thaawar Chand Gehlot / YTd¥ ?l'\lla' Tlﬁ?ﬁ?f

® Ravi Shankar Prasad / 30 X®< HIG

® Suresh Prabhu /'\ﬂ%-‘lT Uy

Correct Answer :-Ravi Shankar Prasad / Ifd T®x YIE

20)
Question Stimulus :-

When an umpire makes a T signal with his hand during a T20 match, what is he signaling? / 20 A9 & RM

g P (TS (THTR) 3 14l A T BT Ybd HIdT © a1 98 HT Hovd PR 8T 82
o FreeHit/Q’ﬂ%?



 No Ball /7 §Tdl
® White ball / RT3€ a1d
® Time Out / CISH 3T3C
Correct Answer :-Time Out / CIgH 3T3C

21)

Question Stimulus :-

What is the full form of DSC, used in ‘MCA-21’, an e-Governance project for registry related service?
. HL.E-21° § wART fFar oM arar SL.e. 3 BT @RI A 4 g, S T IR A afta 9ar & fore §-ran
ufEeT 82
® Duplicate Secret Code / W Hhhe dis
* Digital Secret Code / f&foTea e wis
® Digital Secret Certificate / feforea Wispe Iidfrde
* Digital Signature Certificate / f&foTea RireR afdfrde
Correct Answer :-Digital Signature Certificate / fSfoiea RleR aféfvde
22)
Question Stimulus :-

Which among the following is the largest Sugarcane producing country? / 4 # A S I F71 AT
SWEH S 72

® India/ YRd

* Brazil / STeiid

® China/¥H

* America / 3@R®T

Correct Answer :-Brazil / SToltd

23)
Question Stimulus :-

The highest producer of Apple in the world is ?/fayd s Tﬂmw Jdlgd % ?

® India / YHRd



® Jran /g

e China /¥4

® Russia / &9
Correct Answer :-China / 99
24)

Question Stimulus :-

The leading state in wheat production in India is ./ ﬁE I H YR BT 3RIUft IS4
gl

Punjab / UeSITd
Haryana / Eﬁ'qTU'IT

Uttar Pradesh / 3R EI%QT

* Madhya Pradesh / H&T UeRI
Correct Answer :-Uttar Pradesh / JTR Uc¥l
25)

Question Stimulus :-

Who was the ‘Poet Emperor’ of Delhi? | fee=at & 'Hfg gy B9 A2

® Bahadur Shah I / dgTgY 2T 1

® Bahadur Shah II / 9gTg¥ =Tg 11

® Muhammad Shah / HgHq RTe

® Muhammad Shah 11 / HeHq Te 11

Correct Answer :-Bahadur Shah II / 98Tgx RMME 11

26)
Question Stimulus :-

Which Indian professor was elected as a Fellow of the Royal Society (FRS) in 2016? / frafatea A Y BT IR
WhER, Ha 31 ¢ Iad TSl (FRS) & U H fratfra fovar i &

® Sriram Ramaswamy / 9™ yHRaTHt



® John Kuriyan /\_rﬁ:[@'ﬁ'q:l
® Ajay Sood / 3T g
e Kamal Bawa / PH dTdT

Correct Answer :-Sriram Ramaswamy / $R™ JHar

27)
Question Stimulus :-

Who is known as the father of Geometry? / JIAfd & & & T A S ST SIIdT 82

® Aristotle / 3IR¥]
® Euclid / m
® Pythagoras / tﬂgm
® Kepler /%CIFI'\'
Correct Answer :-Euclid / [0S

28)

Question Stimulus :-

Who was Pakistan’s first Prime Minister? / UIfpd= & UYH YUTHA o1 A2
® MA Jinnah / UHU foram
® Maulana Abdul Kalam Azad / HIATT ogd PATH TSIl
® Liaquat Ali Khan / foraTea orelt @ =
* Zulfiqur Ali Bhutto / fRBDIR 3l YgI

Correct Answer :-Liaquat Ali Khan / foraT®d 3reft @ =

29)
Question Stimulus :-

Who was the first winner of Tour de France in 1903? / 1903 | [ 31 Wi & wyu fasar 19 A2
® Maurice Garin /'Fﬁﬁq A=

® Lance Amstrong / S IE3] Qqu“



® Chris Froome / fora Tﬁ
® Henri Conret / %‘_‘Tﬂ P [

Correct Answer :-Maurice Garin / Hifg A=

30)

Question Stimulus :-

Who was the first law minister of India? / URd & UYH ST TN B A?
® Ashoke Kumar Sen / 3/RM% FHR G
® Shanti Bhushan / XTifd Yo
® B.R.Ambedkar / §I. 3R. SFESHT

® Hans Raj Khanna / §9 309 &A1
Correct Answer :-B. R. Ambedkar / §l. 3(R. 3FASH
31)

Question Stimulus :-

Who has been selected as India’s First Cyber Security Chief? / HRd & UYH AR« Y& g9 ok
et 9g= fasar man &2

Dhanush Bhattacharya / &4 "@Timf
Rajesh Singh / Izt Rig

Gulshan Rai / AR ™A

Ramesh Agarwal / 03T 3R7ATA
Correct Answer :-Gulshan Rai / &R I

32)

Question Stimulus :-

UPSC% the All India Service Personnel. / 8@ YRdRT Ja1 FH1fd®! o gHiTad
Hdl Bl

® Promote /qﬂﬂ?ﬁ

® Transfer / TJHIdI00



* Appoint / frgfe

e Selects /JIq
Correct Answer :-Selects / T91
33)

Question Stimulus :-

Ashok Mehta Committee was related to the . / 3=0® Agar IAfa J
Tefa i

Centre-State Relations / F5-IeT HaY

e Economic Reforms / 3(TfI& gUR

Panchayati Raj / UaTdd! 34
None of the above / SURIGd ®Ig Aol

Correct Answer :-Panchayati Raj / GaTIel 1o

34)
Question Stimulus :-

Who among the following was NOT a Chief Minister of an Indian State? / A9 # & 19 YRdlg

T & GEIHA T8t A?

®* B S Yeddyurappa / il T ﬁﬁgwn

® Panneerselvam / TRAeH

® Mallikarjun Kharge / q%mqh E?ﬂ)f

® Rajnath Singh / XTSHTY Ris
Correct Answer :-Mallikarjun Kharge / 'H'%ﬁﬂﬁq E@ﬁ'
35)

Question Stimulus :-

For the enforcement of Fundamental Rights, the Supreme Court may issue a/an- / mfere

ARPRI & wada & fore, Jhueié 339 wRt H T&dar 8-
® Decree / T&HI
® Ordinance / 3 'i!TI%QT



® Notification / S'IWT

o writ/f¥e
Correct Answer :-Writ / Xe
36)

Question Stimulus :-

Hallikar was a special breed of , developed by Tipu Sultan to transport heavy

\gm(e?ngns / U ARl & uRaga & fog, ﬁwmﬁwﬁaaﬁnﬁmﬁw _ oiue famu
[

® Cattle /U

® Elephant / ET?ﬁ
o Cat/fae
* Giraffe / SRT®
Correct Answer :-Cattle / U]

37)

Question Stimulus :-

Who was known as ‘Father of Indian Renaissance’? / ‘HRdId gﬂ\_:l‘ﬁRUT & TS’ P A A1 A?
e Ranjit Singh / ¥oiid Rig
e Sardar Baldev Singh / GXeR §dcd i
¢ Raja Ram Mohan Roy / ITSIT ’TH Hig 349
e Mahatma Gandhi / HeTHT ieh

Correct Answer :-Raja Ram Mohan Roy / XTSI I19 Hig 3@

38)
Question Stimulus :-

Who was the first lady IPS police officer of India? / YRd &1 Ugall Afgar SrsdieH gfer SiftreTt P 42
® Merin Joseph / aRa sew
e Meera Borwankar / WRT SRE&HT



® (Chandrakala / dxbdl

e Kiran Bedi / ﬁT{'UTaEPI
Correct Answer :-Kiran Bedi / f&3or 9t
39)

Question Stimulus :-

“Veer Yatra”, military tourism initiative in India has been launched in which city? / &R I S HIRG § 99 gded
P TP Ugd B, Frd AR A IR P 1S 32

® Mumbai/Hd8
® Pune/ 0

* Delhi/ feeedt
e Chennai/3JTS

Correct Answer :-pune / qu0t

40)
Question Stimulus :-

Into which of the following did India fail to get membership in 20162 / 2016 & fFufafea & 9 fHad
|l U H HRd fawa g1 wan?

e BRIC

* NSG

® SAARC
e CEPA

Correct Answer :-NSG

41)
Question Stimulus :-

Jeevan Raksha Padak Awards are connected with / Stta= &P Ugqh RIPIR fraa efta %?
e Health and Insurance / W=y 3R §iwr

e Science and Technology / fagm= 3 ui=ifiret



e Poverty Eradication / i€ 3=q@=
® None of the above / IR ﬁé T8I

Correct Answer :-None of the above / SURIad aﬁ% &l

42)

Question Stimulus :-

‘A Suitable Boy’ is a book written by | ﬁ%ﬂﬁ q g1 forat TI'QF frara @
 Vikram Seth / fdw® d5
® Ashok Gupta / 3MH RIS 1)
¢ Bhavabhuti / 'HﬁT’{[ﬁf

e Sobha Dey / RNUTS

Correct Answer :-Vikram Seth / fdspq 95

43)

Question Stimulus :-

Who is the author of the book “Exploring Marxist Bengal”? / Y&d® "mﬁﬂ HIfRiw Sra- %‘é\wﬁ?%?
® Anil Chandra Banerjee / Gﬁﬁﬂﬂaﬂﬁﬁ
® Debraj Bhattacharya /%ﬁ?ﬁ[ ‘-IE'F«IT&
® Swati Bose / Wrfd 99
® Sudish Chandra Banerjee / g‘iﬂma';zaq\—xﬁ

Correct Answer :-Debraj Bhattacharya / SERTST ‘J-IE'I'T:lTCf

44)
Question Stimulus :-

Who was sworn in as the 10! Chief Minister of Arunachal Pradesh? / 3r5UITId WX & 10a 'ﬂ'@'ﬁiﬁ FFUY
fem =y ot 82

* Kalikho Pul / FIferE@l g
® Nabam Tuki/qq gP!

® Pema Khandu/ GHT g



* Kiren Rijuju / &1 Reey
Correct Answer :-Pema Khandu / THT ©g
45)

Question Stimulus :-

Which was the first state to pass the GST Bill after the parliament? / TG F dIG ﬁﬁW?ﬁ e g H= qren
gl (ST B AT Y12

e Bihar/ S8R
® Assam/ 3HH

® Chhattisgarh /Eﬁﬂw

® Jharkhand / IRES

Correct Answer :-Assam/ 3{H

46)
Question Stimulus :-

What does 'LCD’ in a Television stand for? / ¢eiifas & 'Tadisl’ &1 51 Y g2
® Light Control Display / ©Igc W ERar ]
* Liquid Crystal Display / faf@s fea few=t
® Light Connecting Display / dIgc AT et
e Light Connecting Device / ©gC AR fEaga

Correct Answer :-Liquid Crystal Display / fifes frewea feva

47)

Question Stimulus :-

Which day has been declared as International Yoga Day? / 9 ¥ 371 &1 siawigra i fgaw
ot far mar 32

e 2™ October / 2 3fAER
e 215 June / 21 A

e 13th January / 13 SFa3t



o 15th August / 15 3
Correct Answer :-21% June / 21 S
48)

Question Stimulus :-

Which among the following is a relatively new district of Madhya Pradesh? / fafafaad 9
P9 AUE: A Y= BT =141 foram 82

° Rewa/ﬂﬂT

® Morena / 'ﬂ%ﬂ

® Annuppur / 3-JUYR
® Dewas / qard

Correct Answer :-Annuppur / {[UqR

49)
Question Stimulus :-

Where is the major industry, BHEL located in Madhya Pradesh? / 93T B%ﬁ'ﬂ, Tsﬁoqaos‘owo Heg U § Hel R e
2

Gwalior / TaTfeTAIR
Indore / QIR
Ujjain / S
Bhopal / HIUTH

Correct Answer :-Bhopal / HIUTd

50)

Question Stimulus :-

Find the predecessor of — (72 - 62) / — (72 - 6 2) & Qdadf (d1ea?
. 12

° 14

°* 12



* 14

Correct Answer :--14

51)

Question Stimulus :-

Thevalue0f(m+n-r)4f0rm=1,n=2andr=-3is /m=1,n=23ﬁ'§'r=-3a?ﬁl'a(m+n-r)4?ﬂﬂﬂ€ﬂ'ﬂ
® 216

® 1296

° _1216
Correct Answer :-1296
52)

Question Stimulus :-

;T g : |
If x+—=35, the value of x*+— is fofg xt—=35, ar x?+—
4 X -4 X

W AW B
® 25
o 27
e .23
e 23
Correct Answer :-23

53)

Question Stimulus :-

A quadrilateral with a pair of parallel lines, a line of symmetry, minus right angles and sides with unequal length

is a / TUHIR Y@eit & g, quiifa Y1, IHeivr 3R S awTs & Yerait
& 31 a1t Igys o Fed &

® Trapezium / JHqdd

® Kite / UdT



® Parallelogram / JHMIAR il_gI'l;ITrl'
® Irregular quadrilateral / sifrafia ilﬁ'ljﬂ

Correct Answer :-Trapezium / IHdd

54)

Question Stimulus :-

A cylindrical milk tank’s length is 8 m and its diameter is 4m. It has to be painted both inside and outside. What

would be the cost at the rate of Rs70/ sq.: m? / WW@H%%E&W’I@ 8%% 3R IHBT AN
43 g1 T 3R T18R ) P A U H3A1 81 70 = Ufd 97t It & &} W aRTd 7 gl

Rs.8800 / 3= 8800

® Rs.4400 / = 4400

Rs.2200 / ¥ 2200

Rs.17600 / 3= 17600

Correct Answer :-Rs.8800 / 3= 8800

55)
Question Stimulus :-

The salaries of A, B and C are of ratio 2:3:5. If the increments of 15%, 10% and
20% are done to their respective salaries, then the new ratio of their salaries

/ A, B 3R C & 34 2:3:5 & 3Jurd | g1 I 15%, 10% 3R 20% F1

a?ﬁ gfs 39@! wusm: aaqﬁao"raﬁr% al IT% Ad9 BT 7491 AU §

® 20:33:60
® 21:33:60
® 22:33:60
® 23:33:60
Correct Answer :-23:33:60

56)

Question Stimulus :-

A code consists of a digit chosen from 0 to 9 followed by a letter of the alphabet. The probability of the code being
9Z is /TE HS0T 9T AT T 3P 9 U 3R A NAad? a1 81 B FY 92 g1 ot
W& 8




1
Correct Answer :-260

57)
Question Stimulus :-

The mean of 12, 17, 16 and x is15. What is the value of x? / 12, 17, 16 3R x DT HIH 15 g1 x BT T A 8?2
° 45

* 10

° 15
Correct Answer :-15
58)

Question Stimulus :-

Which of the following points lies on the Y-axis? / ﬁ"}f K| Cac k| ﬂg Y-3{& ¥ e %?
* (-8,0)
* (-8-8
* (03
M CAY
Correct Answer :-(0,8)

59)



Question Stimulus :-

The base of the parallelogram is thrice its height and its area is 192 cm?2.

is the base and . is the height of the
parallelogram. / SHFIMR IGYS BT YR TSB! SHaTs A fTAT ¢ 3R sUST &a 192 ¥ o1 31
3TYR & 3R TR Igys #1 Ha18 8l
24cmand8cm./24'\a1ﬁ\?rﬁ?8ﬁ1ﬁ

8cmand24cm/8ﬁ'¥ﬂ3ﬁT24ﬁ1ﬂ

6cmand18cm/6ﬁ3ﬁ?18@1ﬂ

21cmand7cm/21'\q1ﬂ3'ﬁ?'7ﬁ1ﬂ

Correct Answer :-24 cm and 8 cm. / 24 99 3R 8 It

60)
Question Stimulus :-

SI unit of angle / HIU I TS 3PS ©
 Degrees / f&ft
e Radian / ¥fem=
e Steradian ; ¥¥fsTA
e Radian/sec ; fga/3wvs
Correct Answer :-Radian / g

61)
Question Stimulus :-

Coconut oil solidifies in winter but Ground nut oil does not. Pick the CORRECT reason for this among those

given below: /W%mﬁmm%mmmaﬁﬁlﬁﬁﬁﬁ

® Coconut oil has lower latent heat of fusion than Groundnut oil / TIRUA & dd B TTWﬁ da 3 I
T ST HH 3

® Coconut oil has higher Melting point than Groundnut oil / TINGS & dd BT TaHiD 'TTWﬁ ¥ dd 9§ 3|

® Coconut oil has less intermolecular attractions than groundnut oil / ARTa dd & TTWF[ aa q &9
MUIfaP SHTHYT §

® Coconut oil has lower melting point than Groundnut oil / TIRgd dd T TATID TTW ¥ dd I FH %



Correct Answer :-Coconut oil has higher Melting point than Groundnut oil / FTRIA & o BT TATIH

WIHd! & dd 4 3 §
62)
Question Stimulus :-

A stone is thrown vertically upwards with an initial velocity of 30 ms-1,
Acceleration due to gravity g = 10 ms 2. The maximum height reached by the

stone is / T® TRR &I WY FUR Ft 3R 30 H/A F ARMUF T A BHT TN [F@ $ HRU @RI g =
10 ms™2| URR §RT Ugd! 75 3ifUsad S5 @

® 30m

® 45m

® 45m

® 90m
Correct Answer :-45m
63)

Question Stimulus :-

Which of the following statements is CORRECT? /ﬁl’H 7a o T hYd ﬂ'&pf %?
® Sea breeze occurs during night / JH% IR Ia & Eﬂ?ﬁ %
e Land breeze occurs during night ; ya iR 3@ # gkt 8

® In cyclones, high speed winds circulate around a high pressure region / Ipardi ﬁ, o AT Bt arg G| qld &
&7 P URY 3R gl &

® |n cyclones, the wind direction is clockwise in both hemispheres / TJehardl ff, qarg 3| ﬁ'Q'IT Eﬂ:ﬁ eyt &
Sfromad g 2

Correct Answer :-Land breeze occurs during night / ¥4a 9z 39 d gkt

64)

Question Stimulus :-

Which of the following is a compound? / fadaa Can| Udh e %?
® Jodine/ Gﬂﬁ:‘ﬂq
* Soil / Hal



o Milk/gY

° Sugar/?ﬁﬂT
Correct Answer :-Sugar/ HT
65)

Question Stimulus :-

Common salt is recovered from sea water by / =1 ¥ & fore uferar grT | & | A= TS U foar
ST 32

® Evaporation only / $9d 909 & gRI

® (Crystallization only / Fqd fbeeas & gRI

* Condensation only / $ad TgI- & §RI

® Both evaporation & crystallization. / T80 dYT foreedi®eur gl & gRI
Correct Answer :-Both evaporation & crystallization. / aTSI- TUT fobe el ST & GRT
66)

Question Stimulus :-

Nutrition involving digestion by extracellular enzymes released outside the body is used by

/ TR & 91eR e arer TonsH gRT ured foRT Nivre o wfwifera 8, SUET ANt 39% gRT fbar wirar @
* Symbionts / Hgsildl
* Parasites / URSIdl
* Saprophytes / Jaeildl
e Commensals / GgHIsi
Correct Answer :-Saprophytes / gdauitdt
67)

Question Stimulus :-

Name the membrane bound organelle of the cell which has continuity with the plasma membrane at one
end and nuclear membrane at the end. / 31 uREYy FIRGHIT HT W Fa5d o9a! T R R Saga
FAT F TTY MR g AR R Foalyg et & Ay fFARawar gt 21

* Golgi complex / Ticolt ARy



* Endoplasmic reticulum / 3iagadl SfereT
® Lysosome / GIERIGIE
e Mitochondria /HTISeIHIT~SaT

Correct Answer :-Endoplasmic reticulum / 3iasadl SferaT

68)
Question Stimulus :-

What determines the shape of a protein? / MEN &7 3R HiF FMuffva swar %?
® The amino acid sequence in the protein / M # HHA 3R BT S[JhH
® The function of the protein in a cell / IS § M o1 S
® The location in the cell where it is assembled / HIfrPT & dg WIH GlBT gg Wﬁﬂ T SITar %
e None of the above /G'CR-']W ﬁ's‘ qﬁ
Correct Answer :-The amino acid sequence in the protein / W& & Y 37 BT SIqhH
69)

Question Stimulus :-

Custom organisms has become a reality because of [ PXCH St 3| qulg I Udh
I dT 91 T

e Molecular biology / suRfawt
® Eugenics / W&ﬁ'ﬁ
® Biotechnology / siia TNt
® Genetic engineering / enaafiw Sfirifaet
Correct Answer :-Genetic engineering / Gﬂﬂﬂﬁﬁ? SfmifAet

70)

Question Stimulus :-

A batsman has a certain average of runs for 16 innings. In the 17t innings, he scored 85 runs as a result

of which his average increased by 3.What is his average in 17 innings? / Y FeAdTSl A 16 YTl & ﬁnz



$o if¥a ofia ¥ s 179 Ut §, S 85 79 91T, RS TR Sud Siad § 3
g3 1 S| 178 Uit § IS SN | 82

e 38

e 37

* 36

e 35
Correct Answer :-37
71)

Question Stimulus :-

30 Labourers can dig a channel in 20 days. How many days will take for 25 labourers to complete the

same work? / 30 8@ 20 f&T # T WUl Ft I X P 8| W w1 B T A &
25 yftrl 3t fvaw e @i

° 30
* 34
°* 20
° 24
Correct Answer :-24
72)
Question Stimulus :-
1/12™ of 120 / 120 BT o :
e 20
° 10
e 30
° 40
Correct Answer :-10

73)



Question Stimulus :-

Remainder when you divide 314 by 12 is / 59 319 314 3 12 A fRufoT #3a § a@F Jw:

° None/ﬁﬁﬂ'@pf

Correct Answer :-2

74)
Question Stimulus :-

The average age of 10 students and a teacher is 28.If teacher is excluded, then the average reduces by 3
years. What is the age of the teacher? / 10 Sl 3R TS e ot ST BT 39 28 81 afe Rers &t
ST HX a1 S Y, SN 3Ty 3 AT & B STl 3 | g ot ey s 82

* 56

° 54

e 58

°* 60
Correct Answer :-58
75)

Question Stimulus :-

3 years ago, the average age of a family of 5 members was 17 years. The average age is same today with a
baby being added to this family. What is the present age of the baby? / 3 Tl tl?ﬁ, 5 ggw) ardl Udh

URaR # 3ad 3y 17 99 A | 1< 9 URaR ¥ ue a1 9¢ 741 §, 99 W ofia omg a8t g1 adu
# 9= P ITG AT R?

o lyearlla'ﬁf
o ll/zyears/ll/za'ﬁf
o 2years/23'5f

o 21/zyears/21/za'5f



Correct Answer :-2 years /2 CL

76)
Question Stimulus :-
The total produce of a farm in 1979 was 17820 kg. This was 8 % greater than it was in 1978 and the
output in 1978 was 10 % greater than that of 1977. What was the output in 19772 / T 1979 & T®H Wd P1
Pd UgaR 17820 feum At ag af 1978 A 8% 3ifew A, Td avf 1978 FT IaeT ad 1977 A 10% S AT
a¥ 1977 § IIGA HT U2

* 150 quintals / 150 fed

* 146 quintals / 146 fdeca

* 160 quintals / 160 f@ea

e None of the above / IUR 39;]'5: el
Correct Answer :-150 quintals / 150 f@ea

77)
Question Stimulus :-

45% of 300 is / 300 BT 45% B:
° 135
° 140
° 145
e 150

Correct Answer :-135

78)
Question Stimulus :-
Fill in the missing alphabets / g 3i&R Uy

aabaa_ba__a__a
® ab,a

® b,a,b

® aab



® b,a,a
Correct Answer :-a,a, b

79)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY the same as the one
given below? / ¥ IR yal # & 19 91 R Y 10 vd & TheH IHH 81 82

Bruce & Son Concrete Finishers
4860 Charleston Hwy
Rowesyville, SC 29133

(803) 531-3721

(i) Bruce & Son Concrete Finishers
4860 Charleston Hwy

Rovesville, SC 29133

(803) 531-3721

(ii) Bruce & Son Concrete Finishers
4860 Charleston Hwy

Rowesville, SC 29133

(803) 531-3721

(iii) Bruce & Son Concrete Finishers
4860 Charleston Hwy

Rowesville, SC 29133

(803) 531-3721

(iv) Bruce & Son Concrete Finishers
4860 Charleston Hwy

Rowesville, SC 29133

(803) 531-3721

® j

® i
® jv
Correct Answer :-i

80)

Question Stimulus :-



Which one of the following four addresses is NOT EXACTLY same as the other
three? / 9 IR ual & @ &9 91 91 9 & THeH UM 31 32

National Trust
Cerrera 7
Officina 1001
Edifiicio Bancafe
Bogota DC
COLOMBIA

i. National Trust
Cerrera 7
Officina 1001
Edificio Bancafe
Bogota DC
COLOMBIA

ii. National Trust
Cerrera 7
Officina 1001
Edificio Bancafe
Bogota DC
COLOMBIA

iii. National Trust
Cerrera 7
Officina 1001
Edifiicio Bancafe
Bogota DC
COLOMBIA

iv. National Trust
Cerrera 7
Officina 1001
Edificio Bancafe
Bogota DC
COLOMBIA

® j

® iii
® jv
Correct Answer :-iii

81)



Question Stimulus :-

A train passes a platform 90 m long in 30 seconds and a man standing on the platform in 15 seconds.

What is the speed of the train? / T YS! 90 HieX @d WewH $Y 30 YHUsS H UR B Al & Td Wb IR
TS U HfRT B 15 APUS A UR Bl g 1 YerTrs! &1 fa fea 82

e 2m/s / 2 #Hicx/IAdUs

e 3m/s /3 HIXAPUS

* 5m/s /5 HieABTS

e 6 M/s / 6 te/APUs
Correct Answer :-6 m/s / 6 #Hicz/dA®vs
82)

Question Stimulus :-

By selling a tape-recorder for Rs.800 a loss of Rs.75. Find its cost price? / T® U RopTer ot T 800 W
" Y 75 BT JHAM §3HT| ITPT 59 &I J1d Be |

* 800
* 900
e 875

° Nonelﬂﬁﬁﬂﬁ

Correct Answer :-875

83)
Question Stimulus :-

Find the next term in the series 3,6,8,16,18, / ggdn H 3[TeT UG AT Hﬂﬁl‘({
3,6,8,16,18,

e 32

e 42

* 36

e 38

Correct Answer :-36



84)
Question Stimulus :-
Find the next term in the series. / &1 # 3ATAT UG ATd aﬁﬁnz

5,11, 18, 45,74,173,
e 275
o 287
e 285
e 313
Correct Answer :-275
85)

Question Stimulus :-

In a certain language ‘hela dela kela’ means ‘secret code word’, * dela hola jala’ means
‘the last word’ , and ' kela kola pela’ means ‘her secret affair’. Then in that language
the word ‘hela’ is used for: / =it W YT & “hela dela kela’ &T Adad % ‘secret code word’,
‘dela hola jala" &T Hddd § ‘the last word’ 3R " kela kola pela’ &I Hddd ? ‘her secret affair’ |
dl I UTHT H }Meq “hela’ 37& forT waNT gamm 8:

® affair

® Jast

® secret

® code
Correct Answer :-code
86)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given. / 9§ &Y gﬁl’a St
38 T Hy=T vd ol & aR # WEl 6

Statements: / ®Y:
All players are slayers. / 9 Q@S g €
All slayers are blazers. / I TR <eR &



Conclusions: / fAp:
I. Some blazers are players. / $9 W@ﬁl@ﬁ%
II. Some blazers are slayers / P9 R AR %

® lalone s true / Had | W%

® Ilalone is true / Had Il T %

o Bothlandllaretrue/Eﬂ:ﬁl Gﬁ?ll'\‘lﬂ%

® Neither | Nor Il istrue/q?ﬁlqﬁ IIW%

Correct Answer :-Both | and Il are true / G111 | 3R 1| I %

87)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg &Y+ ﬂﬁ'& <
faa T $y=Y vd el & TR # 98 8:

Statements: / ®Y-:

All taps are pipes / I 7d urgu &

All pipes are tubes / 94 Uy =74 &
Conclusions: / faspd:

I. All pipes are taps / I. 94l Ugy 9d &

II1. All taps are tubes / II. It 79 ?5@%

® Only conclusion | follows / *Had fspd | freadr %

® Only conclusion Il follows / W ﬁ'ﬁﬂf 1l ﬁ'ﬁ?ﬂ %

® Both conclusion | and Il follows /ﬁW‘f | Gﬁ?' 1 aﬁ'—l‘r ﬁlﬁ% %

® None of the conclusion | and Il follows / = a ﬁWﬁf | Gﬁ? -1 '(ﬁ n fFreddr %
Correct Answer :-0nly conclusion Il follows / B forsed 1 Forarar @

88)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 $47 gHd &
33 T wy=i vd fFrewuf & IR | 98 §:



Statements: / ®Y:
Some boys are engineers / TS TSP Fol-AR &
Ravi is an engineer / I3 T FolfAWR &

Conclusions: / faead:
I. Some engineers are boys / $F SR TS® &
II. Some boys are not engineers / $© ASP Fol-aR EI &

® Only conclusion | follows / W ﬁl'mﬂf | Fredar %

® Only conclusion Il follows / *Haq fsed 1| AT %

® Both conclusion | and Il foIIows/ﬁWﬂf | Gﬁ? 1l a:ﬁ ﬁﬁh?l?f %

® None of the conclusion | and Il follows / 7T a1 frsp | Gﬁ? -1 ﬁ n fereedr %
Correct Answer :-None of the conclusion I and Il follows / 7 Y foremd | G'ﬁT T a i freear %
89)

Question Stimulus :-

Select the statement which is the logical equivalent to the given statement. / 9§ &Y ﬂﬁ'&

ot 9% 31 TR ¥ 33 T $YT F ¥9H ©:
If they are twins, then they look identical / afe g \‘{l,?;ﬂ’fﬁ %', @a Tdh o fema %
® |f they don’t look identical, then they are not twins / 'Clﬁ | Udh ﬁﬁ T'Ia ﬁ@%, ?‘ﬁ | T{ISHT T'Iﬁ %
® |If they are not twins, then they don’t look identical / ?T% % \_{Eﬂf T-Iﬁ %', ?ﬁ % U aﬁ T-Iﬁ ﬁ@%
® |f they look identical, then they are twins /qﬁ % U a@ ﬁ@%r %', ?ﬁ %r WT %
® None of the above /m aﬁ'é' T'Iﬁ
Correct Answer :-If they don’t look identical, then they are not twins /ﬂﬁ % U ﬁﬁ T-Iﬁ ﬁ@ﬁ, ?ﬁ %r
90)

Question Stimulus :-

Select the statement which is the logical equivalent to the given statement. / 9§ %Y E[ﬁ'&

S dF @1 =i A A T FY7 F 99H &:



If we miss the bus, then we will be late to the class. / If¢ 7 99 SIS ¢, d 89 H&l & ford dc 8l
ST |

® |f we miss the bus, we will be late to the class. /ﬂﬁ{ ?H 99 fﬁ@' a', a BH PEIT & o A E?f ciepf!

® |f we are not late to the class, then we haven’t missed the bus. /ﬂ'ﬁ BH DET & ford @ic T-Iﬁ %', a T;a"FIef 99
Tl Bt

® |f we haven’t missed the bus, then we are not late to the class. /TI'% Eﬂﬁ 99 qﬁ Eﬁ@, a BH PEIT & ford
de T8 81

® None of the above. / SURIG ﬂﬁ'{ S
Correct Answer :-If we are not late to the class, then we haven’t missed the bus. /?T% BH DET & ford Ae
T8l &, 91 g9 99 5l BiSt|
91)
Question Stimulus :-
Standing on a platform, Anuj told Shilpa that Mysore was more than 15 km but less than 20 km from
there. Shilpa knew that it was more than 17 km but less than 19 km from there. If both of them were
correct, which of the following could be the distance of Mysore from the platform? / Y& WewH W s ]
8, 3o 7 Rreur &t weT fp IR a8l A 15fFH A eifte wg 20fFH @ wu u11 Rrewr & var 1 % a8 gt
q 1775 aiftre o1 wig 19fFW A »w Tl TR PN A §, A FE F A SewnH A TR P g P A @
|l g2

® 16 km

® 17 km

® 18 km

® 19 km
Correct Answer :-18 km
92)

Question Stimulus :-

If 29" October, 2002 falls on Tuesday, then what will be the day on 29t October, 20062 / afe 29 SfdgaR,
2002 WTAGR & &9 usdr 8, ) 29 3agaR, 2006 & HIF IT fd7 ghm?

® Thursday / [&dR
® Friday / ghdR
e Saturday / FaR



e Sunday / IdAR
Correct Answer :-Sunday / IddR
93)

Question Stimulus :-

In the sequence shown below, which figure comes next? / R feErd & w9 SnTelt \?rI'ITﬁT Cap k|

Correct Answer :-

94)

Question Stimulus :-



How many different 5 digit numbers can be formed form the digits 9,0,4,1,6? (Leading
zeros are not allowed) / 9,0,4,1,6 3i®i gRI fha-l f4d YR 1 5 3 B TSN BT Frfor T o
TbdT & (3 m&ﬁﬁa@qﬁrq—tﬂ )?

° 120

°* 90

®* 9

° 84
Correct Answer :-96
95)

Question Stimulus :-

Ravi says, “l am the son of Saurabh’s wife’s father.” How is Ravi related to Saurabh? / Ifq Fgdar %, & ERY
3 Uelt F far 1 de1 §17 I3 IRy | FQ "alta 32

® Brother-in-law / %a'\r

® Brother / Q-I'Ig'

® Father / foar

® Uncle / 3Ppd
Correct Answer :-Brother-in-law / GaX
96)

Question Stimulus :-

In the following question the first word has certain relationship with the second word. If
the third word has to have the similar relationship with the fourth word, the fourth word

will be: / % U% &, Ugd Weg BT g Vg & WY Rt TPR @ B Aay 21 TR RN T3 BT 9 AT &
1Y I YHR BT A4Y FHT ALY, ol AT }eg FHIT:

Ascend : Descend :: Comic : ? / g : Ja=AT :: BIHD : ?
® Emotional / HIdPH
® Painful / aéaw
® Tragic / g9q
® Fearful / vgia



Correct Answer :-Tragic / g9¢

97)

Question Stimulus :-

A + B means that A is the father of B / A+ B®THdAd g A, B & a1 &

A - B means that A is the motherof B/ A - B #THdAd ¢ A, B 1 AT @
A x B means that A is the brother of B / AxBE)'T'FIT-I?W%A, BW‘H‘I’s‘?
A / B means that A is the sisterof B/ A/ B3I AdAd e A, BPI 987 &
A'!B means that AisthesonofB / A'! BH)‘['HHTW%A, BT:FIQET%

A $ B means that A is the daughter of B/ A $ B ST HAAS ¢ A, B 1 3d1 &

If the relationship between C and A is represented as C! B x D $ A, then how is C related to

A? /TR CIHRAF TUFTHIYC! B x D $ A I ST AT G, df C, A T HA Tafda g2
® Sson / 9CT
® Daughter / 3¢t
* Granddaughter / GTeit
® Grandson / UIdl
Correct Answer :-Grandson / Tidl
98)

Question Stimulus :-

P introduces Q as, "He is the husband of the granddaughter of the father of my father.”
How is Q related to P? (Grandfather has only one child) / P, Q &1 UR=Y 9 USR ¢dT §, “U8
WY far & foar 1 Ot F1 94 17 Q, P A $ Idfid g (I1S1 Pt Had TP IdH 8)?

° Nephew/'l-l?'ﬁ\_rIT

° Brother/'HTé

e Son/del

° Brother—in-law/ﬂ?‘ﬁg,ﬂ'ﬁﬂ

Correct Answer :-Brother-in-law / 9g11s, Il

99)

Question Stimulus :-



Which of the following is the mirror image of LIGHT? / g & ¥ 9 1 LIGHT &1 gdvr yfafars 82

LICHL
HICHL

KICHL
ICHL

ICHL

Correct Answer :-

100)
Question Stimulus :-

Which of the following is NOT a major river basin of Madhya Pradesh? / | & g wew
o g@1 ¢t aRE B 3t T 82

e Ganga Basin / T 3™

e Tapti Basin / dud! afy=

e Mahi Basin / dT8 3=

e Mahanadi Basin / 98¢l AR

Correct Answer :-Mahanadi Basin / Agd! IR



